d(RARIL ~E)

FEAARIL AT b

;EEtEZ—I)IL(TIL—)

i

EEN | BEEREEWN txB d AL Ty b C H
138U 15. 88 0.6x25 | W3/8 M6 x 25 21 72
208U 22.22 0.6x25 | W3/8 M6 x 25 27 75
255U 28.58 0.6x25 | W3/8 M6 25 25 76
308U 34.0 0.6x25 | W3/8 M6 x 25 25 79
408U 1.7 0.6x25 | W3/8 M6 x 25 25 83
505U 18.6 0.6x25 | Wa/8 M6 x 25 25 86
60SU 60. 5 0.6x25 | W3/8 M6 25 25 92
755U 76.3 1.0x32 | W/8 8 x 25 25 101
80U 89. 1 1.0x32 | W/8 M8 x 25 25 107
100SU 114.3 1.0x32 | Ws/8 8 x 25 25 120
12550 139.8 3.0x32 | W1/2 M10x 35 37 156
1508U 165. 2 3.0x32 | W1/2 M10x 35 37 169

MAK ATV LA (SUSA30) BNy I LKL bFy b RT 2 L AE(SUS304)
S L RFULRTYTSURNUEZUAN
M®  susso4/susaso  |KERE 1
B bz RE BHE b
E=A%
B 1011N012191 R/
- _ . SHEET
e\ R AT VIR RS anssm| A3




